1. Refer to the diagram below Vsetitemeyense
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Find the current in the cireuit and then caleulaté
the change in voltage across each resistor

Draw a qualitative electric potential vs position
graph
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V=10v R;=15Q, R;=10Q, R;=20Q
Determine total resistance of the circuit
Determine the total current coming through the battery (which is the same as the equivalent circuit)
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Is there a resistor that experiences that current? Use that to determine its voltage. R
What is the voltage drop across the remaining two resistors? Complete the remaining values.
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3. What is the total resistance of the following circuit (dtaw equivalent-eircuits to help)? What.is the total
current? 00 50 €3
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4. Use the analogies and ideas of potential difference (voltage) and current in the following. Rate tHe bulbs
in the circuit shown to the right according to their current, listing the brightest (highest current) bulb first,

Indicate whether any bulbs are equally bright. Explain your ratings. [ e
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5. Use the diagram to the right
a. Rate the bulbs in the circuit according to their brightness G : 2 4
(current) when ?1e switch is open. OP
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b. Now rate the bulbs in the circuit when the switch is
closed. ~ -
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c¢. Indicate how the current through of the first three bulbs changes after the switch is closed
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2. Use the diagram to the right | { ‘
a. Predict how the brightness (currentz of the top bulb changes R
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b. Predict how the brightness of the top bulb chairl/ges \elﬁlen you ______@_—I/‘W

close switch 2 (switch 1 is open).
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¢. If there were a bulb placed direzct)ly to the left of the battery (in series with the battery), how would its
current change as switch 1 and then also switch 2 were closed? Why? (Fitst think about total resistance and
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Five resistors are connected as
shown above to a 25-V source
with zero internal resistance.

a. Rank resistors, in order of
largest to smallest, current
through each.
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b. Explain how the current at points A & B compare and justify your answer,
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c. What is the voltage drop of the 5(2 resistor? ( Same )Wf’ﬁfﬁ &5 second /J/D’é/ em)
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d. How would the current across the 50 resistor change if the two resistors around the ‘B’ were
removed from the circuit? Explain your reasoning,
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All of the resistors in the circwits shown are identical, as ace &1 of the Lattesies.
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I32~BGT41 FOUR RESISTOR CIRGUIT 1 CURRENT |

Tn the clrovit shown, the sizes of the resistons very as. R =R R >R, Ifmn ﬁfﬂdanis ‘
digoussing the corrents in this cireuit male the foilowmg statementa
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With-which, if‘any, of these smdeﬁts do you agree?
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2007B3. The circuit above contains a battery with negligible internal resistance, a closed switch S, and three
resistors, each with a resistance of R or 2R,

a. 1. Rank the currents in the three resistors from greatest to least, with number 1 being greatest. If two
resistors have the same current, give them the same ranking,
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b. i. Rank the voltages across the three resistors from greatest to least, with number 1 being greatest. If two
resistors have the same voltage across them, give them the same ranking.
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ii. Justify your answers,
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For parts ¢. and d., use E=12 V and R =200 Q.
¢. Calculate the equivalent resistance of the circuit.

( L

—
——

oo 20 R
133.302= Rﬁ,\

D = Ryt H§3§ 3 (2
ot

d. Calculate the current in resistor Rc. C’%n 7(\;“ J A VA é\j VS ?
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